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परीक्षार्थी प्रश् न-पत्र कोड को उत्तर-पसु्तिका के 

मखु-पषृ्ठ पर अवश्य स्िखें ।  
Candidates must write the Q.P. Code 
on the title page of the answer-book. 
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CHEMISTRY (Theory) 

निर्धारित समय : 3 घण्टे   अनर्कतम अंक : 70 
Time allowed : 3 hours  Maximum Marks : 70 

(I) कृपया जााँच कर िें स्क इस प्रश् न-पत्र में मसु्िि पषृ्ठ 23 हैं ।  
 Please check that this question paper contains 23 printed pages. 

(II) प्रश् न-पत्र में दास्हन ेहार्थ की ओर स्दए गए प्रश् न-पत्र कोड को परीक्षार्थी उत्तर-पसु्तिका के मखु-पषृ्ठ पर 

स्िखें । 

 Q.P. Code given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

(III) कृपया जााँच कर िें स्क इस प्रश् न-पत्र में 33 प्रश् न हैं । 
 Please check that this question paper contains 33 questions. 

(IV) कृपया प्रश् न का उत्तर ललखना शुरू करने से पहले, उत्तर-पुलतिका में यथा तथान पर प्रश् न का 

क्रमांक अवश्य ललखें । 

 Please write down the Serial Number of the question in the  

answer-book at the given place before attempting it. 

(V) इस प्रश् न-पत्र को पढ़ने के स्िए 15 स्मनट का समय स्दया गया ह ै । प्रश् न-पत्र का स्विरण पवूााह्न में  

10.15 बजे स्कया जाएगा । 10.15 बजे स े10.30 बजे िक परीक्षार्थी केवि प्रश् न-पत्र को पढ़ेंग ेऔर 

इस अवस्ि के दौरान वे उत्तर-पसु्तिका पर कोई उत्तर नहीं स्िखेंगे । 
 15 minute time has been allotted to read this question paper. The 

question  paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the candidates will read the question paper only and will not 
write any answer on the answer-book during this period.   
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सामान्य निर्देश : 

निम्िनिनित निर्देशों को ध्यधिपरू्ाक पऩिए औि उिकध पधिि कीनिए : 

(i) इस प्रश् ि-पत्र में 33 प्रश् ि हैं । सभी प्रश् ि अनिवायय हैं । 

(ii) यह प्रश् ि-पत्र पााँच िण्डों में नर्भधनित ह ै– खण्ड क, ख, ग, घ, एरं् ङ ।   

(iii) खण्ड क – प्रश् ि संख्यध 1 से 16 तक बहुनर्कल्पीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 1 अंक कध ह ै।  

(iv) खण्ड ख – प्रश् ि संख्यध 17 से 21 तक अनत िघ-ुउत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 2 अंकों कध ह ै। 

(v) खण्ड ग – प्रश् ि संख्यध 22 से 28 तक िघु-उत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 3 अंकों कध ह ै। 

(vi) खण्ड घ – प्रश् ि संख्यध 29 तथध 30 केस-आर्धरित प्रश् ि हैं । प्रत्येक प्रश् ि 4 अंकों कध ह ै। 

(vii) खण्ड ङ – प्रश् ि संख्यध 31 से 33 र्दीघा-उत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 5 अंकों कध ह ै। 

(viii) प्रश् ि-पत्र में समग्र नर्कल्प िहीं नर्दयध गयध ह ै। यद्यनप, िण्ड क के अनतरिक्त अन्य सभी िण्डों के कुछ प्रश् िों में 

आंतरिक नर्कल्प कध चयि नर्दयध गयध ह ै।  

(ix) ध्यधि र्दें नक दृनिबधनर्त पिीक्षधनथायों के निए अिग प्रश् ि-पत्र ह ै।  

(x) कैल्कुिेटि कध उपयोग वनजयत ह ै।  

खण्ड क 

प्रश् ि संख्यध 1 से 16 तक बहुनर्कल्पीय प्रकधि के 1 अंक के प्रश् ि हैं । 161=16 

1. ऐल् कोहॉि को साांि H2SO4 के सार्थ गरम करने पर ऐल् कीन में स्नजािन के दौरान समारांभन (प्रारांस्भक) 

चरण ह ै: 

(A) एत टर का बनना   (B) काबोिनायन का बनना
 

(C) ऐल् कोहॉि का प्रोटॉनन
 

(D) जि का स्विोपन 

2. क् िोरोबेन् जीन से डाइफेस्न ि में एक चरण में रूपान् िरण के स्िए कौन-से अस्भकमाक आवश् यक हैं ?  

(A) क् िोरोबेन् जीन, Na, शषु् क ईर्थर (B) बेन् जीन, स्नजाि AlCl3 

(C) क् िोरोबेन् जीन/Fe, अांिकार  (D) NaNO2 + HCl  

3. स्नम् नस्िस्ख ि सांकुिों में से कौन-सा बांिनी समावयविा दशाािा ह ै? 

(A) [Co(NH3)5Cl]
2+  

(B) [Co(NH3)4Cl2]Br2 

(C) [Co(H2O)6]
3+  

(D) [Co(NH3)5(ONO)]
2+ 
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General Instructions : 

Read the following instructions carefully and follow them : 

(i) This question paper contains 33 questions. All questions are compulsory.  

(ii) This question paper is divided into five sections – Section A, B, C, D and E.  

(iii) Section A – questions number 1 to 16 are multiple choice type questions. Each 
question carries 1 mark.  

(iv) Section B – questions number 17 to 21 are very short answer type questions. 
Each question carries 2 marks.  

(v) Section C – questions number 22 to 28 are short answer type questions. Each 
question carries 3 marks. 

(vi) Section D – questions number 29 and 30 are case-based questions. Each 
question carries 4 marks.  

(vii) Section E – questions number 31 to 33 are long answer type questions. Each 
question carries 5 marks.  

(viii) There is no overall choice given in the question paper. However, an internal 
choice has been provided in few questions in all the sections except Section A.  

(ix) Kindly note that there is a separate question paper for Visually Impaired 
candidates. 

(x) Use of calculator is not allowed. 

SECTION A 

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark  

each. 161=16 

1. During dehydration of alcohol to alkene by heating with conc. H2SO4, the 

initiation step is : 

(A) Formation of an ester (B) Formation of carbocation
 

(C) Protonation of alcohol
 

(D) Elimination of water 

2. Which reagents are required for one step conversion of Chlorobenzene to 

Diphenyl ?   

(A) Chlorobenzene, Na, Dry ether (B) Benzene, Anhydrous AlCl3 

(C) Chlorobenzene/Fe, Dark (D) NaNO2 + HCl  

3. Which of the following complexes show linkage isomerism ?   

(A) [Co(NH3)5Cl]
2+  

(B) [Co(NH3)4Cl2]Br2
 
 

(C) [Co(H2O)6]
3+  

(D) [Co(NH3)5(ONO)]
2+
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4. स्नम् नस्िस्ख ि में से स्कस सांक्रमण िाि ुका उच् चिम गिनाांक ह ै? 

(A) Sc  
 

(B) Cr 

(C) Mn  
 

(D) Zn 

5. एक मोिि KCl स्वियन का स्हमाांक, यह मानिे हुए स्क KCl जि में पणूािया स्वयोस्जि हो गया, ह ै: 

(जि के स्िए Kf = 1·86 K kg mol–1)   

(A) – 3·72C 

(B) + 3·72C 

(C) – 1·86C 

(D) + 2·72C 

6. बेन् जीनडाइऐजोस्नयम क् िोराइड को बेन् जोनाइट्राइि में रूपान् िरण के स्िए कौन-सा अस्भकमाक प्रयकु् ि 

स्कया जा सकिा ह ै? 

(A) Cu/HCl    (B) CH3CN 

(C) CuCN   (D) AgCN 

7. स्नम् नस्िस्ख ि ऐमीनों में से जिीय स्वियन में प्रबििम क्षारक ह ै: 

(A) (C2H5)2NH   (B) (C2H5)3N 

(C) C2H5NH2   (D) C6H5NH2 

8. 30 mL ऐसीटोन को 20 mL क् िोरोफॉमा के सार्थ स्मस्िि करने पर, स्वियन का कुि आयिन ह ै:    

(A) 10 mL के बराबर   (B) 50 mL से कम 
 

(C) 50 mL से अस्िक  
 

(D) 50 mL के बराबर  
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4. Which of the following transition metals has the highest melting point ? 

(A) Sc 
  

(B) Cr 

(C) Mn 
  

(D) Zn 

5. The freezing point of one molal KCl solution, assuming KCl to be 

completely dissociated in water, is : (Kf for water = 1·86 K kg mol–1)  

(A) – 3·72C 

(B) + 3·72C 

(C) – 1·86C 

(D) + 2·72C 

6. The reagent that can be used to convert benzenediazonium chloride to 

benzonitrile is :    

(A) Cu/HCl    (B) CH3CN 

(C) CuCN   (D) AgCN 

7. The strongest base in aqueous solution among the following amines is :    

(A) (C2H5)2NH   (B) (C2H5)3N 

(C) C2H5NH2   (D) C6H5NH2 

8. On mixing 30 mL of acetone with 20 mL of chloroform, the total volume of 

solution is :  

(A) equal to 10 mL    (B) less than 50 mL 

(C) greater than 50 mL    (D) equal to 50 mL  
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9. स्दष् ट िारा (DC) का प्रयोग करके हम स्कसी आयस्नक स्वियन के प्रस्िरोि को नहीं माप सकिे हैं 

क् योंस्क :  

(A) यह स्वियन का सांघटन पररवस्िाि कर दिेी ह ै।     

(B) इससे स्चांगाररयााँ और झटके उत् पन् न हो सकिे हैं ।  

(C) इससे स्वियन का सांघटन प्रभास्वि नहीं होिा ।  

(D) यह स्वद्यिु-अपघटनी सेि को गैल् वैनी सेि में पररवस्िाि कर दिेी ह ै।  

10. [Co(en)3]Cl3
 
में Co की प्रार्थस्मक और स्ििीयक सांयोजकिाएाँ क्रमश: हैं :  

(A) 3, 3   (B) 0, 3 

(C) 6, 3   (D) 3, 6 

11. आरेस्नअस समीकरण k = a
– E /RT

Ae में, ‘A’ स्नरूस्पि करिा ह ै:  

(A) प्रभावी सांघट्टें    (B) आवसृ्त्त गुणक  

(C) सांघट्टों का अांश    (D) दहेिी ऊजाा  

12. -D-ग् िकूोस और -D-ग् िूकोस परत पर स्कसके सापेक्ष स्भन् न होिे हैं ?  

(A) हमैीऐसीटैि विय के आकार के (B) C2 काबान के स्वन् यास के  

(C) – OH समहूों की सांख् या के  (D) C1 काबान के स्वन् यास के   

प्रश् ि संख्या 13 से 16 के निए, र्दो कथि नर्दए गए हैं — नजिमें एक को अनभकथि (A) तथा रू्दसरे को 

कारण (R) द्वारा अंनकत नकया गया है । इि प्रश् िों के सही उत्तर िीचे नर्दए गए कोडों (A), (B), (C) 

और (D) में से चुिकर र्दीनजए । 

(A) अस्भकर्थन (A) और कारण (R) दोनों सही हैं और कारण (R), अस्भकर्थन (A) की सही 

व्याख्या करिा ह ै। 

(B) अस्भकर्थन (A) और कारण (R) दोनों सही हैं, परन्ि ुकारण (R), अस्भकर्थन (A) की सही 

व्याख्या िहीं करिा ह ै। 
(C) अस्भकर्थन (A) सही ह,ै परन्ि ुकारण (R) ग़िि ह ै। 
(D) अस्भकर्थन (A) ग़िि ह,ै परन्ि ुकारण (R) सही ह ै। 
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9. We cannot measure the resistance of an ionic solution using DC because :  

(A) it changes the composition of the solution. 

(B) it can cause sparks and shocks. 

(C) it does not affect the composition of the solution. 

(D) it converts electrolytic cell to galvanic cell.  

10. The primary and secondary valences of Co in [Co(en)3]Cl3 respectively are :  

(A) 3, 3   (B) 0, 3 

(C) 6, 3   (D) 3, 6 

11. In the Arrhenius equation k = a
– E /RT

Ae , ‘A’ represents :   

(A) effective collisions  (B) frequency factor 

(C) fraction of collisions (D) threshold energy 

12. -D-glucose and -D-glucose differ from each other with respect to the :  

(A) size of the hemiacetal ring  (B) configuration at the C2 carbon  

(C) number of – OH groups (D) configuration at the C1 carbon 

For Questions number 13 to 16, two statements are given — one labelled 

as Assertion (A) and the other labelled as Reason (R). Select the correct 

answer to these questions from the codes (A), (B), (C) and (D) as given 

below.  

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of the Assertion (A).  

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 

the correct explanation of the Assertion (A).  

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 
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13. अनभकथि (A) : िैंर्थेनॉयड आकुां चन की िुिना में एक ित्त्व से दसूरे ित्त्व के बीच ऐस्क्टनॉयड 

आकुां चन अस्िक होिा ह ै।  

 कधिण (R) : ऐस्क्टनॉयड ऑक् सीकरण अवत र्थाओां में वहृद परास दशाािे हैं ।  

14. अनभकथि (A) : अस्भस्क्रया की आस्ववकिा प्रयोग िारा स्निााररि की जािी ह ै।  

 कधिण (R) : आस्ववकिा केवि प्रार्थस्मक अस्भस्क्रया पर ही िाग ूहोिी ह,ै जस्टि अस्भस्क्रया के 

स्िए नहीं ।  

15. अनभकथि (A) : n-C4H9NH2 की िुिना में (C2H5)2NH का क् वर्थनाांक स्नम् निर होिा ह ै।  

 कधिण (R) : n-C4H9NH2 की अपेक्षा (C2H5)2NH में हाइड्रोजन आबांिन बहुि अस्िक 

व् यापक रूप से होिा ह ै।  

16. अनभकथि (A) : ईर्थरों में C – O – C आबांि कोण चिषु् फिकीय कोण की ििुना में जरा-सा बडा 

होिा ह ै। 

 कधिण (R) : यह दो वहृदाकार ऐस्ल्कि समूहों के मध् य प्रस्िकर्षी अन् ि:स्क्रया के कारण ह ै। 

 

खण्ड ख 

17. परासरण दाब को पररभास्र्षि कीस्जए । वहृदणुओ ां जैसे प्रोटीन और बहुिकों के मोिर िव् यमान ज्ञाि 

करने के स्िए परासरण दाब मापन स्वस्ि को प्रार्थस्मकिा क् यों दी जािी ह ै? 2 

18. आप स्नम्नस्िस्खि को कैसे समझाएाँगे ?  1+1=2 

(क) ग्िकूोस में ऐस्ल्डहाइड समहू की उपस्तर्थस्ि । 

(ख) ग्िकूोस में पााँच – OH समहूों की उपस्तर्थस्ि । 
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13. Assertion (A) :  Actinoid contraction is greater from element to element 

than lanthanoid contraction. 

Reason (R) : Actinoids show wide range of oxidation states. 

14. Assertion (A) :  Molecularity of reaction is determined experimentally.  

Reason (R) : Molecularity is applicable only for an elementary reaction 

and not for a complex reaction. 

15. Assertion (A) :  Boiling point of (C2H5)2NH is lower than that of  

n-C4H9NH2.  

Reason (R) : Hydrogen bonding is much more extensive in (C2H5)2NH 

as compared to n-C4H9NH2.  

16. Assertion (A) :  The bond angle C – O – C in ethers is slightly greater 

than tetrahedral angle. 

Reason (R) : This is because of the repulsive interaction between the 

two bulky alkyl groups. 

SECTION B 

17. Define osmotic pressure. Why is measurement of osmotic pressure 

method preferred for the determination of molar masses of 

macromolecules such as proteins and polymers ? 2 

18. How do you explain the following ? 1+1=2 

(a) Presence of an aldehydic group in glucose. 

(b) Presence of five – OH groups in glucose. 
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19. स्नम् नस्िस्खि प्रत् यके अस्भस्क्रया के उत् पाद/उत् पादों की सांरचनाएाँ बनाइए :  1+1=2 

 

(क)                            ?  

 

 

 

 

(ख)                                                                       ?   

 

20. स्दए गए स्चत्र में दशााए ग्राफ का प्रेक्षण कीस्जए और स्नम्नस्िस्खि प्रश् नों के उत्तर दीस्जए : 1+1=2 

  

(क) अस्भस्क्रया कोस्ट की प्रागसु्क् ि कीस्जए । 

(ख) वक्र की ढाि क्या ह ै? 

21. (क) स्नम्नस्ि स्खि उपसहसांयोजन यौस्गकों के IUPAC नाम स्िस्खए :  1+1=2 

(i) [CoCl2(en)2]SO4 

(ii) K3[Fe(C2O4)3]  

 अथवा 

 (ख) स्नम्नस्ि स्खि के बीच अांिर त पष् ट कीस्जए :  1+1=2 

(i) स्ि िवण िर्था सांकुि यौस्गक  

(ii) स्िदांिरु स्िगन्ड िर्था उभदांिी स्िगन्ड 

2 3
CH – CH

2
NO

ऊष्मा  ,        2Br
    ⎯⎯⎯⎯⎯→

स्नजाि AlCl3  

Cl

                               

3
+ CH COCl ⎯⎯⎯⎯⎯⎯→
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19. Draw the structures of product(s) in each of the following reactions :   1+1=2 

 

(a)                                                                               ?   

 

 

 

 

(b)                                                                   ?  

 

20. Observe the graph in the given figure and answer the following  

questions : 1+1=2 

  

(a) Predict the order of reaction. 

(b) What is the slope of the curve ? 

21. (a) Write IUPAC names of the following coordination compounds : 1+1=2 

(i) [CoCl2(en)2]SO4 

(ii) K3[Fe(C2O4)3]   

   OR 

(b) Differentiate between :  1+1=2 

(i) Double salt and Complex compound 

(ii) Didentate ligand and Ambidentate ligand  

2 3
CH – CH

2
NO

   2Br , heat 
    ⎯⎯⎯⎯⎯⎯→

Anhyd. AlCl3  

Cl

                              __   
3

+ CH COCl ⎯⎯⎯⎯⎯⎯→
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खण्ड ग 

22. आप स्नम्नस्िस्खि को कैसे प्राप्त कर सकिे हैं ? 31=3 

(क) अमोस्नयम बेन्जोएट से ऐस्निीन    

(ख) नाइट्रोबेन्जीन से बेन्जीन डाइऐजोस्नयम क्िोराइड 

(ग) ऐस्निीन से 2,4,6-ट्राइब्रोमोऐस्निीन 

23. स्नम्नस्िस्खि के स्िए कारण दीस्जए :  31=3 

(क) जिीय NaCl का वैद्यिु-अपघटन करने पर उसके pH में वसृ्ि हो जािी ह ै।  

(ख) शषु्क सेि के स्वपरीि, मक्यूारी सेि का सेि स्वभव इसकी सांपणूा काया अवस्ि में स्तर्थर रहिा ह ै।  

(ग) िनिुा के सार्थ स्वियन की चािकिा घटिी ह ै। 

24. अस्भस्क्रया  

 A + B ⎯→⎯  उत्पाद  

 के स्िए अस्भस्क्रया वेग A और B को स्वस्भन्न प्रारांस्भक साांििाओ ां के फिन के रूप में नीचे स्दया गया ह ै।  

प्रयोग [A] / mol L–1 [B] / mol L–1 प्रारांस्भक वेग/mol L–1 min–1 

1 0·01 0·01 5  10–3 

2 0·02 0·01 1  10–2 

3 0·01 0·02 5  10–3 

 A और B के सापेक्ष अस्भस्क्रया कोस्ट की गणना कीस्जए । अस्भस्क्रया का वेग स्तर्थराांक ज्ञाि कीस्जए ।  3 

25. SN1 और SN2 अस्भस्क्रयाओां के बीच कोई दो अांिर स्िस्खए । स्नम्नस्िस्खि यौस्गकों में से कौन-सा 

SN1 अस्भस्क्रया िीव्रिा से देगा और क्यों ?  3 

                 CH2 – Cl   अर्थवा                     CH2 – Cl 
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SECTION C 

22. How can you obtain the following ? 31=3 

 (a) Aniline from ammonium benzoate  

 (b) Benzene diazonium chloride from nitrobenzene 

 (c) 2,4,6-tribromoaniline from aniline 

23. Give reasons for the following : 31=3 

(a) The pH of aqueous NaCl increases when it is electrolysed. 

(b) Unlike dry cell, mercury cell has a constant cell potential through 

its lifetime. 

(c) Conductivity of solution decreases with dilution.  

24. The rate of a reaction : 

 A + B ⎯→⎯ product  

 is given below as a function of different initial concentrations of A and B. 

  

 

 

 

 Calculate the order of the reaction with respect to A and B. Determine 

the rate constant of the reaction.  3 

25. Write any two differences between SN1 and SN2 reactions. Which of the 

following compounds would undergo SN1 reaction faster and why ? 3 

                   CH2 – Cl    or                    CH2 – Cl 

Experiment [A] / mol L–1 [B] / mol L–1 Initial Rate/mol L–1 min–1 

1 0·01 0·01 5  10 
–3 

2 0·02 0·01 1  10 
–2 

3 0·01 0·02 5  10 
–3 
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26. C4H5N आस्ववक सतू्र का कोई यौस्गक (A) DIBAL-H के सार्थ अपचस्यि होने के बाद  

जि-अपघस्टि होकर यौस्गक (B) दिेा ह ै । यौस्गक (B) िनात्मक टॉिेन्स परीक्षण देिा ह,ै परन्ि ु

आयोडोफॉमा परीक्षण नहीं देिा ह ै। एर्थेनैि को िन ुNaOH के सार्थ अस्भस्क्रस्य ि करने के बाद गरम 

करने पर भी यौस्गक (B) को प्राप्त स्कया जा सकिा ह ै। (A) िर्था (B) की पहचान कीस्जए । (A) की 

अस्भस्क्रयाएाँ स्िस्खए, पहिे DIBAL-H के सार्थ और उसके पश् चाि जि-अपघटन की । 3 

27. (क) [FeF6]3–
 और [Fe(CN)6]4–

 सांकुिों के स्वर्षय में स्नम्नस्िस्खि के उत्तर दीस्जए :  31=3 

 (i) प्रत्येक प्रकरण में सस्म्मस्िि सांकरण स्िस्खए ।  

 (ii) उनमें से कौन-सा बाह्य कक्षक सांकुि ह ैऔर कौन-सा आांिररक कक्षक सांकुि ह ै? 

 (iii) उनके चमु्बकीय व्यवहार की िुिना कीस्जए । 

  [परमाण ुक्रमाांक : Fe = 26] 

 अथवा 

(ख) (i) सांकुि [Ti(H2O)6]3+ के रांग को क्या होिा ह ैजब उसे िीरे-िीरे गरम स्कया जािा 

ह ै? 

  (ii) d5 आयन का इिेक्ट्रॉस्नक स्वन्यास स्िस्खए यस्द o  P ह ै।  

  (iii) सांकुि [Ni(CO)4] के स्िए सांकरण और चमु्बकीय व्यवहार स्िस्खए । 

   [परमाण ुक्रमाांक : Ni = 28] 31=3 

28. 298 K पर शिु जि का वाष्प दाब 24·8 mm Hg ह ै । स्कसी जिीय स्वियन के वाष्प दाब में 

अवनमन का पररकिन कीस्जए, जो – 0·3C पर स्हमीभिू हो जािा ह ै। 3 

 (जि के स्िए Kf = 1·86 K kg mol–1) 
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26. A compound (A) with molecular formula C4H5N on reduction with 

DIBAL-H followed by hydrolysis, gives a compound (B). Compound (B) 

gives positive Tollens’ test but does not give iodoform test. Compound (B) 

can also be obtained when ethanal is treated with dilute NaOH followed 

by heating. Identify (A) and (B). Write the reactions of (A) with DIBAL-H 

followed by hydrolysis.  3 

27. (a) Answer the following about the complexes 31=3 

   [FeF6]3–
  and  [Fe(CN)6]4– :  

(i) Write the hybridization involved in each case. 

(ii) Which of them is the outer orbital complex and which one is 

the inner orbital complex ? 

(iii) Compare their magnetic behaviour. 

 [Atomic number : Fe = 26]  

  OR 

 (b) (i) What happens to the colour of complex [Ti(H2O)6]3+ when 

heated gradually ? 

(ii) Write the electronic configuration for d
5
 ion if o  P. 

(iii) Write the hybridization and magnetic behaviour of the 

complex [Ni(CO)4]. 

 [Atomic number : Ni = 28]  31=3 

28. Vapour pressure of pure water at 298 K is 24·8 mm Hg. Calculate the 

lowering in vapour pressure of an aqueous solution which freezes at  

– 0·3C. (Kf of water = 1·86 K kg mol–1) 3 
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खण्ड घ 

निम्िनिनित प्रश् ि केस-आर्धरित प्रश् ि हैं । केस को ध्यधिपरू्ाक पऩिए औि नर्दए गए प्रश् िों के उत्ति र्दीनिए ।  

29. ऐल्कोहॉि ऐसी बहुि सी अस्भस्क्रयाएाँ दिेे हैं स्जनमें C – OH आबन्ि का स्वदिन सस्म्मस्िि होिा  

ह ै । यद्यस्प फीनॉि C – OH आबांि के स्वदिन से सस्म्मस्िि अस्भस्क्रयाएाँ नहीं दिेे हैं । जि की 

अपेक्षा ऐल्कोहॉि दबुाि अम्ि होिे हैं । ऐल्कोहॉि, हैिोजेन अम् िों के सार्थ अस्भस्क्रया करके सांगि 

हिैोऐल् केन बनािे हैं । ऐल्कोहॉिों की ििुना में फीनॉि प्रबििर अम्ि होिे हैं । फीनॉिों का एक 

स्वस्शष्ट िक्षण यह ह ैस्क वे इिेक्ट्रॉनरागी प्रस्ितर्थापन अस्भस्क्रयाएाँ जैसे हिैोजनन, नाइट्रोकरण, आस्द 

दिेे हैं । चूाँस्क  – OH समहू एक प्रबि सस्क्रयक समहू ह,ै अिः फीनॉि हिैोजनन, नाइट्रोकरण, आस्द 

के दौरान स्त्रप्रस्ितर्थास्पि उत्पाद दिेे हैं । 

(क) क्या होिा ह ैजब फीनॉि स्नम्नस्िस्खि  के सार्थ अस्भस्क्रया करिा ह ै?  2 

 (i) Br2 जि  (ii) साांि HNO3  

(ख) (i) उस अस्भस्क्रया की स्क्रयास्वस्ि स्िस्खए स्जसमें ऐल्कोहॉि एक नास्भ करागी की भााँस्ि 

3CH
  के सार्थ अस्भस्क्रया करिा ह ै। 1 

 अथवा 

(ख) (ii) फीनॉि C – OH आबांि स्वदिन की अस्भस्क्रयाएाँ क्यों नहीं दिेे ?  1 

(ग) आप स्नजाि ZnCl2 की उपस्तर्थस्ि में HCl का उपयोग करके ब्यटेून-1-ऑि िर्था  

2-मेस्र्थिप्रोपेन-2-ऑि में कैसे स्वभेद कर सकिे हैं ? 1  

30. -ऐमीनो अम्ि प्रोटीनों की सांरचनात्मक इकाई हैं । सभी -ऐमीनो अम्ि स््व टर आयन अर्थवा 

उभयास्वष्ट आयन के रूप में स्वद्यमान होिे हैं स्जसके कारण वे उभयिमी प्रकृस्ि दशाािे हैं । सभी ऐमीनो 

अम्ि पेप्टाइड आबांि िारा जडेु होिे हैं । प्रोटीनों को गोस्िकाकार प्रोटीन और रेशेदार प्रोटीन में 

वगीकृि स्कया गया ह ै। गोस्िकाकार प्रोटीन जि स्विेय होिे हैं, जबस्क रेशेदार प्रोटीन जि स्विेय नहीं 

होिे हैं । प्रोटीनों की सांपणूा सांरचना का अध्ययन चार स्भन्न तिरों पर स्कया जािा ह,ै यास्न प्रार्थस्मक, 

स्ििीयक, ििृीयक एवां चिषु्क सांरचनाएाँ । स्वकृिीकृि रूप में प्रोटीन अपनी जैस्वक सस्क्रयिा को खो 

दिेा ह ै। 

(क) स्नम्नस्िस्खि की पररभार्षा स्िस्खए :  2 

 (i) पेप्टाइड बांि  (ii)  स्वकृिीकृि प्रोटीन 
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SECTION D 

The following questions are case-based questions. Read the case carefully and 

answer the questions that follow. 

29. Alcohols undergo a number of reactions involving the cleavage of C – OH 

bond. However, phenols do not undergo reactions involving the cleavage 

of C – OH bond. Alcohols are weaker acids than water. Alcohols react 

with halogen acids to form the corresponding haloalkanes. Phenols are 

stronger acids than alcohols. A characteristic feature of phenols is that 

they undergo electrophilic substitution reactions such as halogenation, 

nitration, etc. Since – OH group is a strong activating group, phenol gives 

trisubstituted products during halogenation, nitration, etc.   

(a) What happens when phenol is treated with the following ?  2 

(i) Br2 water  (ii) Conc. HNO3   

(b) (i) Write the mechanism of alcohol reacting as nucleophile in a 

reaction with 3CH


. 1 

   OR 

(b) (ii) Why do phenols not undergo reactions involving cleavage of 

C – OH bond ? 1 

(c)  How can you distinguish between Butan-1-ol and  

2-Methylpropan-2-ol by using HCl in the presence of anhydrous 

ZnCl2 ? 1 

30. The -amino acids are the building blocks of proteins. All -amino acids 

exist as zwitter ion due to which they show amphoteric behaviour. All 

amino acids are joined through peptide bond. Proteins are broadly 

classified as globular proteins and fibrous proteins. Globular proteins are 

water soluble, whereas fibrous proteins are not. The complete structure of 

protein is discussed at four different levels i.e. primary, secondary, 

tertiary and quaternary structures. Protein loses its biological activity in 

denatured form. 

 (a) Define the following :     2 

   (i) Peptide linkage (ii) Denatured protein  
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(ख) ऐमीनो अम्ि उभयिमी व्यवहार क्यों दशाािे हैं ? 1 

(ग) (i) आप रेशेदार प्रोटीन और गोस्िकाकार प्रोटीन में कैसे अांिर कर सकिे हैं ? 1 

 अथवा 

(ग) (ii) प्रोटीनों की दो स्वस्भन्न स्ििीयक सांरचनाओां के नाम स्िस्खए ।  1 

 

खण्ड ङ 

31. (क) (i) स्नम्नस्िस्खि के स्िए कारण दीस्जए :  

(I) Cr2O7
2– आयन का नारांगी रांग पीिे में पररवस्िाि हो जािा ह ैजब इसे क्षार 

के सार्थ अस्भस्क्रस्यि स्कया जािा ह ै। 

(II) Zn, Cd और Hg सांक्रमणेिर ित्त् व हैं ।  

(III) Mn3+ /Mn2+ यगु्म के स्िए E का मान (+1·57 V)  Cr3+ /Cr2+ के 

मान से बहुि अस्िक िनात्मक होिा ह ै।  

(ii) क्या होिा ह ैजब :  

(I) अम्िीय माध्यम में मैंगनेट आयन असमानपुािन अस्भस्क्रया दिेा ह ै?  

(II) KMnO4 को गरम स्कया जािा ह ै? 3+2=5 

 अथवा 

(ख) स्नम्नस्िस्खि प्रश् नों के उत्तर दीस्जए : 51=5 

(i) ‘स्मश िाि’ु क्या ह ै?  इसका एक उपयोग दीस्जए । 

(ii) क्रोस्मयम के एक ऑक्सो-ॠणायन का सतू्र स्िस्खए स्जसमें यह समहू सांख्या के समान 

ऑक्सीकरण अवतर्था दशाािा ह ै। 

(iii) वैनेस्डयम पेन्टॉक्साइड (V2O5) उत्प्रेरक की भााँस्ि काया क्यों करिा ह ै? 

(iv) सांक्रमण ित्त् वों की कणन एन्र्थैल्पी उच्च क्यों होिी ह ै? 

(v) Na2CrO4 से आप Na2Cr2O7 कैसे बनाएाँगे ? 
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 (b) Why do amino acids show amphoteric behaviour ?  1 

(c) (i) How can you differentiate between Fibrous protein and 

Globular protein ?  1 

   OR 

(c) (ii) Write the names of two different secondary structures of 

proteins. 1    Name the linkage which joins two nucleotides. Name the base that is found in nucleotide of RNA but not in DNA. 1 

SECTION E 

31. (a) (i) Account for the following :  

   (I)  Orange colour of Cr2O7
2– ion changes to yellow when 

treated with an alkali.  

   (II) Zn, Cd and Hg are non-transition elements.  

   (III) E value for Mn3+/Mn2+ couple is highly positive  

(+1·57 V) as compared to Cr3+/Cr2+. 

  (ii) What happens when : 

   (I) Manganate ion undergoes disproportionation reaction 

in acidic medium ? 

   (II) KMnO4 is heated ?  3+2=5 

                                           OR 

 (b) Answer the following questions :  51=5 

(i)  What is ‘Misch metal’ ? Give its one use. 

(ii) Write the formula of an oxoanion of chromium in which it 

shows the oxidation state equal to its group number.  

(iii) Why does Vanadium pentoxide (V2O5) act as a catalyst ? 

(iv) Why do transition elements have high enthalpies of 

atomisation ? 

(v) How do you prepare Na2Cr2O7 from Na2CrO4 ? 



   

56/6/3  # 20 #  

CH3 

 

32. (क) (i) स्नम्नस्िस्खि अस्भस्क्रयाओां में A, B और C की पहचान कीस्जए : 

                                               + CrO3
3 2( )

– 3

CH CO

273 28

O

K
⎯⎯⎯⎯⎯⎯⎯→A 

+
3H O

⎯⎯⎯⎯→B 

 

             

                                                                         C + 

(ii) स्नम्नस्िस्खि के स्िए कारण दीस्जए :  

(I) काबोस्क्सस्िक अम्ि, काबोस्नि समहू की अस्भिक्षस्णक अस्भस्क्रयाएाँ नहीं 

दिेे हैं ।   

(II) एर्थेनॉि की ििुना में एर्थेनॉइक अम्ि प्रबििर अम्ि ह ै।  3+2=5 

 अथवा 

(ख) (i) स्नम्नस्िस्खि अस्भस्क्रयाओां में उत्पाद/उत्पादों को स्िस्खए : 

(I) 2CH3COOH  

 

(II)                                 +  (CH3)2Cd →                                        

 

(III)  

 

(ii) स्नम्नस्िस्खि अस्भस्क्रयाओां में सस्म्मस्िि अस्भस्क्रया स्िस्खए :     

(I) वोल्फ-स्कश् नर अपचयन  

(II) स्वकाबोस्क्सिकरण अस्भस्क्रया 3+2=5 

प्रबि िापन 

ऊष्मा 

COONa 

साांि NaOH 

⎯⎯⎯⎯→4 10P O



−

O

C Cl

2CONH

2CONH

⎯⎯⎯⎯⎯→
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32. (a) (i) Identify A, B and C in the following reactions :  

                                              + CrO3 
3 2( )

– 3

CH CO

273 28

O

K
⎯⎯⎯⎯⎯⎯⎯→A 

+
3H O

⎯⎯⎯⎯→B 

 

                                                                         

                                                                                       C + 

   (ii)  Give reasons for the following : 

(I)  Carboxylic acids do not give the characteristic reactions 

of carbonyl group.   

(II) Ethanoic acid is a stronger acid than ethanol.  3+2=5  

                 OR 

 (b) (i) Write the product(s) in the following reactions :  

(I) 2CH3COOH  (I) 2CH3COOH  

 

(II)                                       +  (CH3)2Cd →  

                                       

  (III)         

 

 

 (ii) Write the reaction involved in the following reactions :  

(I) Wolff-Kishner Reduction 

(II) Decarboxylation Reaction 3+2=5 

CH3 

COONa 

Conc. NaOH 

strong heating 

heat 
⎯⎯⎯⎯→4 10P O



−

O

C Cl

2CONH

2CONH

⎯⎯⎯⎯⎯→
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33. (क) (i) उस गैल्वैनी सेि का E
सेि

 पररकस्िि कीस्जए स्जसमें 25C पर स्नम्नस्िस्खि 

अस्भस्क्रया होिी ह ै: 

 Zn(s) + Pb2+(0·02 M) ⎯→⎯  Zn2+(0·1 M) + Pb(s) 

[स्दया गया ह ै: 2+
Zn /Zn

E = – 0·76 V,  2+
Pb /Pb

E = – 0·13 V; 

 log 2 = 0·3010,  log 4 = 0·6021,  log 5 = 0·6990]  

 (ii) फैराडे का स्वद्युि-अपघटन का प्रर्थम स्नयम बिाइए । एक मोि 
–
4MnO  को Mn2+ 

आयन में अपचस्यि करने के स्िए फैराडे के पदों में स्किनी स्वद्यिु की आवश्यकिा 

होगी ? 3+2=5 

 अथवा 

(ख) (i) 298 K पर 0·001 M KCl स्वियन से भरे हुए एक चािकिा सेि का प्रस्िरोि 

1000 ओम ह ै । यस्द 0·001 M KCl स्वियन की 298 K पर चािकिा  

0·125  10–3 S cm–1  ह,ै िो सेि स्तर्थराांक क्या ह ै?   

(ii) 25C पर स्नम्न अिा सेि के स्िए 2+Mg /Mg
E  स्वभव पररकस्िि कीस्जए  :  

 Mg/Mg2+ (1  10– 4 M);  2+Mg /Mg
E  = + 2·36 V 

 [स्दया गया ह ै: log 10 = 1] 

(iii) िास्त्वक चािक के स्वद्यिुीय चािकत्व पर िाप का क्या प्रभाव पडिा ह ै ? 2+2+1=5 
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33. (a)  (i)  Calculate Ecell of a galvanic cell in which the following 

reaction takes place at 25C : 

 Zn(s) + Pb2+(0·02 M) ⎯→⎯  Zn2+(0·1 M) + Pb(s) 

[Given : 2+
Zn /Zn

E = – 0·76 V,  2+
Pb /Pb

E = – 0·13 V; 

      log 2 = 0·3010,  log 4 = 0·6021,  log 5 = 0·6990]. 

   (ii) State Faraday’s first law of electrolysis. How much 

electricity, in terms of Faraday, is required to reduce one mol 

of 
–
4MnO  to Mn2+ ion ? 3+2=5 

                                           OR 

 (b) (i) The resistance of a conductivity cell containing 0·001 M KCl 

solution at 298 K is 1000 ohm. What is the cell constant  

if conductivity of 0·001 M KCl solution at 298 K is  

0·125  10
–3

 S cm
–1

 ?   

  (ii) Calculate the 2+Mg /Mg
E potential for the following half cell 

at 25C : 

 Mg/Mg2+ (1  10– 4 M);  2+Mg /Mg
E  = + 2·36 V 

 [Given : log 10 = 1]  

(iii) What is the effect of temperature on the electrical 

conductance of metallic conductor ?  2+2+1=5 
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